



namn: \_\_\_\_\_

Datum: \_\_\_\_\_ Poäng: \_\_\_\_\_

$$(-2)^{(-2)} - 4 =$$

$$(-5)^2 + (-10) =$$

$$(-6)^0 - (-5) =$$

$$10^{(-1)} + (-5) =$$

$$4^2 + 4 =$$

$$(-10)^{(-2)} + 6 =$$

$$(-3)^2 + 1 =$$

$$8^2 + 2 =$$

$$4^2 + 10 =$$

$$(-6)^{(-2)} + 9 =$$

$$(-2)^{(-1)} + (-7) =$$

$$1^2 - (-2) =$$

$$9^2 + (-7) =$$

$$(-3)^{(-2)} - 4 =$$

$$5^2 - 5 =$$

$$1^{(-2)} + 1 =$$

$$8^{(-2)} - (-3) =$$

$$(-7)^2 + (-3) =$$

$$(-8)^{(-2)} - (-4) =$$

$$10^{(-2)} + 2 =$$



namn: \_\_\_\_\_

Datum: \_\_\_\_\_ Poäng: \_\_\_\_\_

$$(-2)^{(-2)} - 4 = \left(-\frac{15}{4}\right) = \left(-3\frac{3}{4}\right)$$

$$(-5)^2 + (-10) = 15$$

$$(-6)^0 - (-5) = 6$$

$$10^{(-1)} + (-5) = \left(-\frac{49}{10}\right) = \left(-4\frac{9}{10}\right)$$

$$4^2 + 4 = 20$$

$$(-10)^{(-2)} + 6 = \frac{601}{100} = 6\frac{1}{100}$$

$$(-3)^2 + 1 = 10$$

$$8^2 + 2 = 66$$

$$4^2 + 10 = 26$$

$$(-6)^{(-2)} + 9 = \frac{325}{36} = 9\frac{1}{36}$$

$$(-2)^{(-1)} + (-7) = \left(-\frac{15}{2}\right) = \left(-7\frac{1}{2}\right)$$

$$1^2 - (-2) = 3$$

$$9^2 + (-7) = 74$$

$$(-3)^{(-2)} - 4 = \left(-\frac{35}{9}\right) = \left(-3\frac{8}{9}\right)$$

$$5^2 - 5 = 20$$

$$1^{(-2)} + 1 = 2$$

$$8^{(-2)} - (-3) = \frac{193}{64} = 3\frac{1}{64}$$

$$(-7)^2 + (-3) = 46$$

$$(-8)^{(-2)} - (-4) = \frac{257}{64} = 4\frac{1}{64}$$

$$10^{(-2)} + 2 = \frac{201}{100} = 2\frac{1}{100}$$